Gender Differences            conducted on Wednesday 17th May,2006

Two Sample T-Test and Confidence Interval

Two sample T for Browse

Gender        N      Mean     StDev   SE Mean

1           196      91.1      96.9       6.9

2            82      66.0      54.6       6.0

95% CI for mu (1) - mu (2): ( 7.0,  43.1)

T-Test mu (1) = mu (2) (vs not =): T = 2.73  P = 0.0068  DF = 252

Two Sample T-Test and Confidence Interval

Two sample T for Emails

Gender        N      Mean     StDev   SE Mean

1           204      15.8      36.0       2.5

2            81      24.6      26.6       3.0

95% CI for mu (1) - mu (2): ( -16.5,  -1.1)

T-Test mu (1) = mu (2) (vs not =): T = -2.27  P = 0.024  DF = 197

Two Sample T-Test and Confidence Interval

Two sample T for Web

Gender        N      Mean     StDev   SE Mean

1           207      3.73      9.93      0.69

2            91       5.5      13.8       1.4

95% CI for mu (1) - mu (2): ( -4.91,  1.4)

T-Test mu (1) = mu (2) (vs not =): T = -1.09  P = 0.28  DF = 132

Two Sample T-Test and Confidence Interval

Two sample T for Books

Gender        N      Mean     StDev   SE Mean

1           207      3.43      7.89      0.55

2            89      4.92      8.71      0.92

95% CI for mu (1) - mu (2): ( -3.61,  0.64)

T-Test mu (1) = mu (2) (vs not =): T = -1.38  P = 0.17  DF = 152

Two Sample T-Test and Confidence Interval

Two sample T for Choose

Gender        N      Mean     StDev   SE Mean

1           208     1.303     0.461     0.032

2            91     1.253     0.437     0.046

95% CI for mu (1) - mu (2): ( -0.060,  0.160)

T-Test mu (1) = mu (2) (vs not =): T = 0.90  P = 0.37  DF = 180

Two Sample T-Test and Confidence Interval

Two sample T for Intellect

Gender        N      Mean     StDev   SE Mean

1           207      7.50      1.98      0.14

2            92      7.33      2.18      0.23

95% CI for mu (1) - mu (2): ( -0.35,  0.70)

T-Test mu (1) = mu (2) (vs not =): T = 0.66  P = 0.51  DF = 160

Two Sample T-Test and Confidence Interval

Two sample T for Grades

Gender        N      Mean     StDev   SE Mean

1           205      7.35      2.30      0.16

2            92      7.79      2.06      0.21

95% CI for mu (1) - mu (2): ( -0.97,  0.09)

T-Test mu (1) = mu (2) (vs not =): T = -1.65  P = 0.10  DF = 194

Two Sample T-Test and Confidence Interval

Two sample T for Friends

Gender        N      Mean     StDev   SE Mean

1           206      7.15      2.36      0.16

2            91      7.22      2.21      0.23

95% CI for mu (1) - mu (2): ( -0.63,  0.49)

T-Test mu (1) = mu (2) (vs not =): T = -0.26  P = 0.79  DF = 183

Two Sample T-Test and Confidence Interval

Two sample T for Blogs

Gender        N      Mean     StDev   SE Mean

1           208       9.7      20.7       1.4

2            92      11.5      22.2       2.3

95% CI for mu (1) - mu (2): ( -7.2,  3.5)

T-Test mu (1) = mu (2) (vs not =): T = -0.69  P = 0.49  DF = 163

Two Sample T-Test and Confidence Interval

Two sample T for Forum

Gender        N      Mean     StDev   SE Mean

1           208      15.5      27.1       1.9

2            92      17.9      48.2       5.0

95% CI for mu (1) - mu (2): ( -13.1,  8.2)

T-Test mu (1) = mu (2) (vs not =): T = -0.46  P = 0.65  DF = 117

Two Sample T-Test and Confidence Interval

Two sample T for Texting

Gender        N      Mean     StDev   SE Mean

1           208      27.9      44.4       3.1

2            92      28.8      30.3       3.2

95% CI for mu (1) - mu (2): ( -9.6,  7.8)

T-Test mu (1) = mu (2) (vs not =): T = -0.20  P = 0.84  DF = 247

Two Sample T-Test and Confidence Interval

Two sample T for Mobiles

Gender        N      Mean     StDev   SE Mean

1           208      33.5      49.3       3.4

2            92      35.1      53.9       5.6

95% CI for mu (1) - mu (2): ( -14.6,  11.4)

T-Test mu (1) = mu (2) (vs not =): T = -0.24  P = 0.81  DF = 161

* NOTE * Command cancelled.

